[image: image1.png]




W

atters’ Wheel was developed to provide business owners 
and managers a tool to estimate the impact of future changes 
in product pricing.  Price changes impact company profits - you 

know, those dollars that pay the costs of company overhead, tax 
liabilities, debt service, a fair return to company ownership and 
to retain a few bucks in the business.

Product pricing often begins with the costs that are involved in 
preparing products for sale.  The goal of “for profit” companies is for product pricing to yield enough money to pay all business costs.      
For example, the Oklahoma Mercantile Service Center (OMSC) buys materials that it fashions into wall furnishings.  Product pricing is based upon determining the direct costs of producing the finished products and then applying a “mark-up” percentage – say 100%.   



24”x36” Frame: Direct costs (materials & labor) …
$18.00  

Mark-up @ 100% = a price …


$36.00
Business management knows the $18.00 gross profit goes to pay its share of the many other business expenses.  Let’s say, OMSC has the following business performance for the first half of the year.

                              
     Monthly Average

Sales … 


$28,800
Less: Cost of Sales …

  14,400  


Equals: Gross Profit …

$14,400  50.0% of sales

Less: Overhead …

                  6,910
   
Equals: Operating Income … 
$ 7,490   26.0% of sales


Less: Debt Service


   2,890

Equals: Pretax Income

$ 4,600   16.0% of sales

Less:  Income Tax


   1,200  

Equals: Net Income

$ 3,400   11.8% of sales
Let’s say the company experienced a drop in business and management wants to stimulate sales by offering a price “discount” of 40% for a month.  A sales discount lowers gross profits. The question is … how much more “sale” business will OMSC need to produce $14,400 in gross profit dollars?  That’s the goal - remember.  
Enter the Wheel … slide the smaller wheel to where the arrow points to the 100% mark-up and find the percent sales must increase at the 40% discount … 200.0% or 3 times the monthly average.  A 40% discount from normal pricing drops the gross profit rate to 16.67%.  The sales volume needed to produce $14,400 in gross profit dollars at the new rate equals $86,382.  As the boss of OMSC, do you decide to do the sales discount?



Price increases work the other way and add to gross profit rates – all other things being equal.  A 7% price increase raises the gross profit rate of the above summary to 53.27%.  OMSC can actually lose 6.1% of its $28,800 average sales volume and still retain the $14,400 in gross profit dollars.  (
[$28,800 x .939 = $27,043 … $27,043 x .5327 = $14,406]   That’s the goal!
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At a $36.00 price, the company’s gross profit = $18.00 or 50.0% of sales.  
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The goal of the company’s profit plan is the $14,400 monthly average in gross profit.  If sales cannot yield that volume of gross profit dollars, the company suffers - all other things held constant. 











